RESOLUTION NO. 24280

A RESOLUTION AUTHORIZING THE CHIEF OF THE CITY OF CHATTANOOGA FIRE DEPARTMENT TO ENTER INTO AN INTERLOCAL AGREEMENT, IN THE FORM ATTACHED HERETO, WITH HAMILTON COUNTY, TENNESSEE, FOR THE PURCHASE OF HOMELAND SECURITY EQUIPMENT IN AN AMOUNT NOT TO EXCEED ONE MILLION ONE HUNDRED EIGHTY-THREE THOUSAND DOLLARS (\$1,183,000.00), WITH HAMILTON COUNTY GOVERNMENT REIMBURSING THE CITY CHATTANOOGA FROM HOMELAND SECURITY GRANTS PREVIOUSLY PROVIDED TO HAMILTON

TENNESSEE, BY THE UNITED STATES GOVERNMENT.

BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF CHATTANOOGA,

TENNESSEE, That the Chief of the City of Chattanooga Fire Department be and is hereby

authorized to enter into an Interlocal Agreement, in the form attached hereto, with Hamilton

County, Tennessee, for the purchase of Homeland Security equipment in an amount not to

exceed \$1,183,000.00, with Hamilton County Government reimbursing the City of Chattanooga

from Homeland Security Grants previously provided to Hamilton County, Tennessee, by the

United States government.

ADOPTED: December 14, 2004.

PAN/kac

INTERLOCAL AGREEMENT BETWEEN THE CITY OF CHATTANOOGA

AND

HAMILTON COUNTY, TENNESSEE

WHEREAS, the parties to this Agreement are authorized to enter into an Interlocal Agreement for the mutual benefit of their respective citizens pursuant to T.C.A. § 5-1-113; and

WHEREAS, Hamilton County, Tennessee has agreed that it will reimburse the City of Chattanooga for certain purchases of approved Homeland Security equipment from Homeland Security Grants provided to Hamilton County, Tennessee by the United States government;

NOW, THEREFORE,

In consideration of the mutual covenants hereinafter stated, the City of Chattanooga and Hamilton County, Tennessee do hereby agree as follows:

- 1. Hamilton County, Tennessee will reimburse the City of Chattanooga for the sum of One Million One Hundred Eighty-Three Thousand and 00/100 Dollars (\$1,183,000.00), following the City's purchase of the following approved Homeland Security equipment during fiscal year 2004-2005 and/or during the fall of 2005. A list of all approved Homeland Security equipment to be purchased by the City of Chattanooga during this time period is attached hereto and marked as Exhibit A.
- 2. The City of Chattanooga shall purchase the above Homeland Security equipment through normal bidding procedures for public purchases as required by the State law of Tennessee.

- 3. Following the purchase of the above listed equipment, the City of Chattanooga shall forward invoices and payments made by the City and request reimbursement for payments made as they are purchased. The cumulative reimbursements by Hamilton County shall not exceed the amount of \$1,183,000.00 from the Finance Administrator for Hamilton County, Tennessee.
- 4. Hamilton County, Tennessee agrees to reimburse the City of Chattanooga within fifteen (15) days after receipt of invoices for equipment purchases for any Homeland Security equipment listed in Exhibit A which is purchased pursuant to this Agreement.
- 5. The parties agree that the terms of this Agreement are specifically enforceable in the event of a breach by either party. The parties agree that any action to enforce the terms of this Agreement shall be brought in the Chancery Court for Hamilton County, Tennessee and that any amendments to this Agreement during this term must be in writing and must be authorized by the legislative bodies of the City of Chattanooga and the Hamilton County Commission by resolution.
- 6. The parties agree that this Interlocal Agreement will be enforced and interpreted according to the laws of the State of Tennessee.

WITNESS our hands this day	y of December, 2004.
·	CHATTANOOGA FIRE DEPARTMENT CITY OF CHATTANOOGA, TENNESSEE
	By: JIM COPPINGER, Fire Chief
	COUNTY OF HAMILTON, TENNESSEE
·	By:

CLAUDE RAMSEY, Mayor



PROPOSED EQUIPMENT INVENTORY CBRNE OPERATIONS

June 8, 2004

CBRNE EQUIPMENT NEEDS

CATEGORY	EQUIPMENT	NUMBER	COST EACH	TOTAL COST	PAGE
Access	24 foot extension ladder	4	\$530.10	\$2,120.40	20-3-I
	16 foot roof ladder	4	\$293.55	\$1,174.20	20-3-1
	Werner combination ladder	8	\$142.41	\$1,139.28	20-3-1
Air monitoring	Hadvetial Colonida TMV 440 4 and modita	 _	#4 20E 0E 1	#A OFA FA	T-88-E-8-1
Air monitoring	Industrial Scientific TMX-412 4 gas monitor	2	\$1,325.25	\$2,650.50	22-5-0
	Sampling pump for TMX-412	2	\$356.25	\$712.50	22-5-0
	Weatherguard case with alarm for TMX-412	2	\$5 <u>84.25</u>	\$1,168.50	25-9-C
Breathing Air	MSA Portable air supply	2	\$1,983.60	\$3,967.20	17-1-F
	MSA manifold for portable air supply	2	\$346.75	\$693.50	17-1-F
	MSA Quick fill for portable air supply	2	\$475.00	\$950.00	17-1-E
	MSA PremAire Cadet	12	\$1,450.65	\$17,407.80	17-1-E
	MSA Breathing air lines 100 feet	20	\$100.00	\$2,000.00	17-1-F
	MSA Upgrade for SCBA masks (CBRNE certification)		\$617.50	\$30,875.00	17-1-F
		<u> </u>			
Communications	Bull horn	2	\$75.99	\$151.98	25-9-N
Containment	30 gal. Overpack Drum	1	\$47.50	\$47.50	23-6-F
	60 gal. Overpack Drum	1	\$95.00	\$95.00	23-6-F
	95 gal. Overpack Drum	1 1	\$190.00	\$190.00 °	23-6-F
	Teflon Tape	2	\$9.50	\$19.00	23-6-F
	Squeegee	1	\$19.00	\$19.00	23-6-F
	PVC pipe 4" x 6'	2	\$9.50	\$19.00	23-6-F
	Sample Bottles	_12	\$1.90	\$22.80	23-6-F
	Sampling Tubes	11	\$9.50	\$9.50	23-6-F
	<u></u>	,,			
Decontamination		11	\$6,650.00	\$6,650.00	23-6-F
	Tarps / Plastic Sheating	2	\$38.00	\$76.00	23-6-F
	Don-It Kit; Mass Casualty	100	\$15.20	\$1,520.00	23-6-F
	Doff-It Kit; Mass Casualty	100	\$15.20	\$1,520.00	23-6-F
	Con-space CSI 2100 intercom	11	\$6,222.50	\$6,222.50	20-3-B
	Con-space intercom probe	1	\$473.10	\$473.10	20-3-B
	Con-space cord reels	5_	\$4.67	\$23.35	20-3-B

CATEGORY	EQUIPMENT	NUMBER	COST EACH	TOTAL COST	PAGE
_Cutting	Gasoline Oxygen Cutting Torch	2	\$1,034.55	\$2,069.10	20-3-D
			* 4		
Entry	Towed air compressor	1	\$10,450.00	\$10,450.00	20-3-D
	Air knife	1	\$1,610.25	\$1,610.25	20-3-D
	Jack hammer	1	\$1,235.00	\$1,235.00	20-3-D
	Cutter's edge concrete saw with depth gauge	1	\$1,667.25	\$1,667.25	20-3-D
		· · · · · · · · · · · · · · · · · · ·			
	Res-Q-Tek Air bag set	11	\$6,898.90	\$6,898.90	20-3-E
Harness	Class 3 rescuer harness - XL	7 7	\$07E E0	\$EE4.00	T 00 0 1
Harriess	Class 3 rescuer harness - AL	2 2	\$275.50 \$275.50	\$551.00	20-3-1
	Victim harness	2	\$137.75	\$551.00 \$275.50	20-3-1 20-3-1
	Chest strap for victim harness	2	\$55.10		
	Wrist straps	2	\$24.70	\$110.20 \$49.40	20-3-I 20-3-I
	Zorbers	6	\$14.49	\$86.94	20-3-1
	Zipper bag for harnesses	 6 	\$84.55	\$507.30	20-3-1
	Zipper bag for flattlesses	<u> </u>	\$04.00 T	06.106	
Hauling	Haul safe	2	\$703.95	\$1,407.90	20-3-J
		-l. -	\$100.50	Ψ1,401.50	1 20-0-0
Hydraulic Tools	HURST "Jaws of Life" compressor	1 1	\$5,358.00	\$5,358.00	20-3-C
	HURST "Jaws of Life" cutters	1	\$3,847.50	\$3,847.50	20-3-C
	HURST "Jaws of Life" dump valve	2	\$755.25	\$1,510.50	20-3-C
	HURST "Jaws of Life" hose - 30 feet	6	\$389.50	\$2,337.00	20-3-C
	HURST "Jaws of Life" ram extensions	1	\$593.75	\$593.75	20-3-C
	HURST "Jaws of Life" model 32B spreader	1	\$8,787.50	\$8,787.50	20-3-C
	HURST "Jaws of Life" combination tool	1	\$4,531.50	\$4,531,50	20-3-C
	Stanley power unit	1	\$4,399.45	\$4,399.45	20-3-C
	Stanley 90 pound class concrete breaker	1	\$2,541.65	\$2,541.65	20-3-C
	Stanley 45 pound class concrete breaker	1	\$1,831.60	\$1,831.60	20-3-C
	Moil point breaker bit 1 1/8 inch	2	\$21.09	\$42.18	20-3-C
	3 inch chisel breaker bit 1 1/8 inch	2	\$21.09	\$42.18	20-3-C
	1 inch chisel breaker bit 1 1/8 inch	2	\$20.52	\$41.04	20-3-C

					Logistics	Lockout / Tagou	Lighting			Lifting																					Hydraulic Tools	CATEGORY
Trailer for Gator	Cator	Combination hand truck with pneumatic tires	Weather Station	Class D Fire Extinguishing Agent	ICS Vests	Lockout / Tagout Lockout / Tagout kit	Streamlight vulcan flash lights	Conte-a-tong	20 ton hydraulic Jack	10 ton hydraulic jack	Coupler set with 3/8 HTMA	50 foot hose set with couplers	25 foot hose set with couplers	1 inch X 24 inch drill bit	2 inch X 24 inch drill bit	Stanley hammer drill	Portable water tank	2 inch diamond core drill bit	1 inch diamond core drill bit	Stanley core drill with wrenches	Water attachment for cut off saw	Stanley water booster pump	Stanley cut off saw with 14 inch blade	10 men ellam fol ellam saw	An inch chair for abole com	15 inch bar for chain saw	Stanley diamond chain saw	moil point	1 inch chisel	Clay spade	Stanley chipping and digging hammer	4
	4 12	2	-	1	1	-3	4		2	2	30	2	2	2	2	1		2	2	1	1			#	-	S	1	2	2	2	_	NUMBER
\$1,900.00	\$237.50	\$298.54	\$5,700.00	\$142.50	\$285.00	\$105.26	\$77.71	\$28.49	\$79.46	\$49.64	\$45.98	\$475.00	\$308.75	\$101.65	\$224.20	\$2,775.90	\$123.50	\$247.00	\$207.10	\$3,439.95	\$40.57	\$978.50	\$1,981.70	\$730.23	97.70	\$104.75	\$2 073 85	\$35.15	\$17.48	\$87.97	\$1,976.95	COST EACH
\$1,900.00	\$475.00	\$597.08	\$5,700.00	\$142.50	\$285.00	\$105.26	\$310.84	\$56.98	\$158.92	\$99.28	\$1,379.40	\$950.00	\$617.50 -	\$203.30	\$448.40	\$2,775.90	\$123.50	\$494.00	\$414.20	\$3,439.95	\$40.57	\$978.50	\$1,981.70	\$3,021.00	200.00	\$280 50	\$2 073 85	\$70.30	\$34.96	\$175.94	\$1,976.95	TOTAL COST
26-10-B	200	23-6-H	21-4-1		29-9-L	20-3-E	25-9-J	20-3-E	20-3-€	20-3-€	20-3-C	20-3-C	20-3-C	20-3-C	20-3-C	20-3-C	20-3-C	20-3-C	20-3-C	20-3-C	20-3-C	20-3-C	20-3-C	20-3-6	300	30-3-0	20-3-C	20-3-C	20-3-C	20-3-C	20-3-C	PAGE

CATEGORY	EQUIPMENT	NUMBER	COST EACH	TOTAL COST	PAGE
Lumber Supplies	2" X 6" X 16' boards	50	\$7.01	\$350.56	20-3-F
	2" X 6" X 12' boards	50	\$6.36	\$317.78	20-3-F
	2" X 4" X 8' boards	60	\$2.25	\$135.00	20-3-F
	Plywood ground pads	10	\$14.25	\$142.50	20-3-F
	Plywood panels	24	\$23.72	\$569.28	20-3-F
	Scabs (100 needed, can get 16 per 8' board)	7	\$24.23	\$169.58	20-3-F
	Shorform panels	3	\$12.06	\$36.17	20-3-F
	4" X 4" X 16' Timbers	50	\$10.42	\$521.00	20-3-F
	4" X 4" X 12' Timbers	100	\$9.47	\$947.00	20-3-F
	4" X 4" X 8' Timbers	10	\$11.37	\$113.70	20-3-F
	2" X 12" X 12' boards	20	\$13.61	\$272.20	20-3-F
	2" X 4" wedges	6	\$2.25_	\$13.50	20-3-F
	4" X 4" wedges	12	\$11.37	\$136.44	20-3-F
					···
Medical Supplies	Physio Control LP 500 AED	2	\$2,375.00	\$4,750.00	26-11-A
	Physio Control LP 500 AED pads	8		\$0.00	26-11-A
	Body bags	20	\$8.50	\$170.00	26-11-A
	Eye wash solution	20	\$1.51	\$30.20	26-11-A
	Laderal powered suction unit	8	\$712.45	\$5,699.62	26-3-B
	Iron duck medical bag	8	\$132.95	\$1,063.62	

CATEGORY	EQUIPMENT	NUMBER	COST EACH	TOTAL COST	PAGE
Medical Supplies	Oxygen delivery case	4	\$305.13	\$1,220.52	26-3-K
	Oxygen regulator manifold	4	\$570.00	\$2,280.00	26-3-K
	Oxygen regulator	8	\$132.80	\$1,062.40	26-3-K
	Pulse oximeter	8	\$351.45	\$2,811.62	26-3-K
	Pulse oximeter carrying case	8	\$16.10	\$128.80	26-3-K
	Sager splint	4	\$322.90	\$1,291.58	26-3-K
	Suction tubing	20	\$1.23	\$24.51	26-3-B
	Tonsil suction	50	\$2.65	\$132.53	26-3-B
	Triage tags (50 in pack)	2	\$29.92	\$59.83	26-3-Q
_ Miscellaneous	Laser pointer	8	\$28.49	\$227.92	
Patient Moving	Junkin rescue litter	2	\$490.20	\$980.40	20-3-G
	LSP half back	2	\$810.35	\$1,620.70	20-3-G
	LSP half back carrying case	2	\$116.66	\$233.32	20-3-G
	LSP half back vertical lifting harness	2	\$164.16	\$328.32	20-3-G
	Oregon spine splint	2	\$184.30	\$368.60	20-3-G
	Reeves sleeve	2	\$375.15	\$750.29	20-3-G
	SKED stretcher	4	\$271.70	\$1,086.80	20-3-G
Power	Generator	1 1	\$1,206.50	\$1,206.50	25-9-1

CATEGORY	EQUIPMENT	NUMBER	COST EACH	TOTAL COST	PAGE
PPE	Dust masks	50	\$3.77	\$188.55	
	Elbow pads	70	\$14.25	\$997.50	
	Goggles	70	\$4.75	\$332.50	
	Hi-Tec boots	70	\$75.99	\$5,319.30	
	Jersey gloves	70	\$1.90	\$133.00	
	Jump suit	70	\$37.99	\$2,659.30	
	Knee pads	70	\$25.18	\$1,762.25	
	Rope gloves	70	\$25.65	\$1,795.50	
	Safety glasses	70	\$9.50	\$665.00	
	Welders / cutters helmet	2	\$20.79	\$41.57	
	Air Purifying Respirators	8	\$190.00	\$1,520.00	18-1-BB
	Filters for APR	16	\$52.25	\$836.00	18-1-BB
				 	· · ,
Reference	Binoculars	4	\$94.99	\$379.96	
	Compass	4	\$56.99	\$227.96	
	Hazardous materials field guide	111	\$20.00	\$20.00	
	Map book	2	\$19.00	\$38.00	
	Rope log	1	\$6.65	\$6.65	
	Confined space textbook	70	\$37.95	\$2,656.68	
	Minolta digital camera	2	\$474.05	\$948.10	
	Pelican case for digital camera	2	\$18.95	\$37.90	25-9-C
	Technical Rescue Field Operations Guide	70	\$18.95	\$1,326.50	
	Trench rescue textbook	70	\$37.95	\$2,656.50	
	Lap Top Computer	1	\$2,375.00	\$2,375.00	25-9
	Printer	1	\$570.00	\$570.00	25-9
Rigging	Anchor eyes	4	\$33.25	\$133.00	20-3-J
	Anchor plate	3	\$39.90	\$119.70	20-3-J
	Beam clamps	2	\$241.30	\$482.60	20-3-J
	Rigging rings	8	\$7.60	\$60.80	20-3-J
	Tripod	11	\$945.25	\$945.25	20-3-J
	Tripod carrying case	1	\$75.05	\$75.05	20-3-J
	Tripod mount for winch	1	\$171.00	\$171.00	20-3-J
	Wire rope slings with sliding chokers	2	\$25.32	\$50.63	20-3-J
	600 foot 1/2 inch kernmantle rope	2	\$57.57	\$115.14	20-3-J

CATEGORY	EQUIPMENT	NUMBER	COST EACH	TOTAL COST	PAGE
Rigging	200 foot 1/2 inch kernmantle rope	8	\$191.90	\$1,535.20	20-3-J
<u>-</u>	Twist links	16	\$2.23	\$35.72	20 - 3-J
	540 degree belay	2	\$232.75	\$43.70	20-3-J
	Anchor strap - 3 ft.	12	\$21.85	\$262.20	20-3-J
	Anchor strap - 5 ft.	8	\$22.80	\$182.40	20-3-J
	Carabiners	100	\$23.51	\$2,351.00	20-3-J
	Carabiners - large	2	\$30.35	\$60.70	20-3-J
	Edge roller	8	\$128.25	\$1,026.00	20-3-J
	Gibbs ascender	2	\$61.75	\$123.50	20-3-J
	Kootenay carriage	2	\$147.25	\$294.50	20-3-J
	Load release hitch	4	\$17.96	\$71.82	20-3-J
	Prusik cord - 3 ft.	20	\$1.05	\$21.09	20-3-J
	Prusik cord - 4 ft.	20	\$1.41	\$28.12	20-3-J
	Prusik minding pulley - 3 inch	6	\$66.50	\$399.00	20-3-J
	Prusik minding pulley - 2 inch	2	\$47.50	\$95.00	20-3-J
	Double prusik minding pulley - 4 inch	2	\$89.54	\$179.07	20-3-J
	Double prusik minding pulley - 2 inch	2	\$78.85	\$157.70	20-3-J
	Pulley - 2 inch	10	\$28.50	\$285.00	20-3-J
	Pulley - 4 inch	2	\$57.95	\$115.90	20-3-J
	Rapelling rack	2	\$95.00	\$190.00	20-3-J
	Rescue figure 8's	4	\$49.40	\$197.60	20-3-J
	Rope accessory bag	2	\$76.00	\$152.00	20-3-J
	Rope bag - 600 foot capacity	2	\$33.25	\$66.50	20-3-J
	Rope bag - 200 foot capacity	8	\$43.70	\$349.60	20-3-J
	Rope swivel	2	\$63.65	\$127,30	20-3-J
	Sala rope winch	1	\$1,166.60	\$1,166.60	20-3-J
	Webbing - 12 ft.	24	\$3.65	\$87.55	20-3-J
	Webbing - 15 ft.	12	\$4.56	\$54.72	20-3-J
	Webbing - 9 ft.	24	\$2.74	\$65.66	20-3-J
	Webbing 25 ft.	8	\$7.60	\$60.80	20-3-J
Safety	Bullard hard hat	24	\$87.40	\$2,097.60	18-1-H
	Delsar hot stick	2	\$355.30	\$710.60	25-9-K
	Fire extinguisher	4	\$97.38	\$389.50	23-3-1
	Flares	36	\$1.98	\$71.14	 -
	Light rope - 250 feet	4	\$2,327.50	\$9,310.00	20-3-J
	Petzl head lights	12	\$66.45	\$9,310.00 \$797.40	
	Propane heater with extension tube	2			25-9-J
	Fropane neater with extension tube		\$184.06	\$368.13	25-9-V

																				poddne											Search		Calch	Safety
Screw Jack set	To Toot lengths of 2 inch pipe	All shore rescue tool 32 base plate	Air shore rescue tool raker nailer	Air chore rescue (out picket	Air shore rescue tool raker adapter	Air shore rescue tool 8 toot raker rail	Air shore tool extension - 48 (nch	Air shore tool extension - /2 inch	Air shore rescue tool 45 degree static clevis	Air shore rescue tool tripod head	Air snore rescue tool static clevis	Air snore rescue tool 6" C-grip	Air snore rescue tool rigid base	Air snore rescue tool 4" C-grip	Air shore rescue tool L-grip	All shore rescue tool 8" c-grip	Air shore rescue tool bu degree pivot	Air snore rescue tool 45 degree pivot	Air snore rescue tool V-block	Air shore - advanced trench kit	video transmitter for search cam	Spiridle extension for search cam breacher	Remote display for search cam	Receiver antenna for search cam	Field maintenance kit for search cam breacher	extended operation battery for search cam	Diamond blade for search cam breacher	Command video receiver for search cam	Carbide blade for search cam breacher	Search cam breaching system	Search cam 2000	Trains mags	Traffic flags	EQUIPMENT
12	12	4	8	8	4	4	4	4	4	2	6	2	6	2	4	4	4	4	2	_			-3	1	1	1	2	1	2		_	α	24	NUMBER
\$35.63	\$16.63	\$189.53	\$51.30	\$40.61	\$180.50	\$212.80	\$346.75	\$380.00	\$125.40	\$315.88	\$125.40	\$52.25	\$82.65	\$48.45	\$57.48	\$60.33	\$207.58	\$207.58	\$142.50	\$21,945.00	\$3,040.00	\$106.40	\$2,001.65	\$2,565.00	\$140.60	\$2,565.00	\$318.25	\$3,705.00	\$285.00	\$4,110.65	\$15,532.50	\$2.60	\$19.57	S
\$427.50	\$199.50	\$758.10	\$410.40	\$324.90	\$722.00	\$851,20	\$1,387.00	\$1,520.00	\$501,60	\$631.75	\$752.40	\$104.50	\$495.90	\$96.90	\$229.90	\$241.30	\$830,30	\$830.30	\$285.00	\$21,945,00	\$3,040.00	\$106.40	\$2,001.65	\$2,565,00	\$140.60	\$2,565,00	\$0.00	\$3,705,00	\$570.00	\$4,110.65	\$15,532.50	\$20.82	\$469.68	TOTAL COST
20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-F	20-3-C	20-3-C	20-3-C	20-3-C	20-3-0	20-3-C	20-3-C	20-3-C	20-3-C	20-3-C	1 20-3-C		25-9-0	PAGE

CATEGORY	EQUIPMENT	NUMBER	COST EACH	TOTAL COST	PAGE
Tools	15 inch adjustable wrench	2	\$36.09	\$72.18	25-9-F
	10 inch adjustable wrench	2	\$15.19	\$30,38	25-9-F
	12 inch adjustable wrench	2	\$23.74	\$47,48	25-9-F
	Air chisel	2	\$118.89	\$237.79	25-9-F
	Air chisel - flat bit - 9 inch	2	\$13.63	\$27.26	25-9-F
	Air chisel - flat bit - 12 inch	2	\$14.61	\$29.22	25-9-F
	Aviation snip set	1	\$37.99	\$37.99	25-9-F
	36 inch bolt cutters	2	\$42.74	\$85.48	25-9-F
	18 inch bolt cutters	2	\$30.39	\$60.78	25-9-F
	Brass punch set	1	\$14.24	\$14.24	25-9-F
	Breaker bar	2	\$25.64	\$51.28	25-9-F
	Carbide tip clade for circular saw	4	\$13.30	\$53.20	25-9-F
	Carpenter aprons	24	\$0.95	\$22.80	25-9-F
	Carpentery pencils	24	\$0.56	\$13.44	25-9-F
	Carpentery pencil sharpener	2	\$3.79	\$7.58	25-9-F
	Cats paw nail puller	12	\$8.51	\$102.14	25-9-F
	Chalk line	8	\$4.74	\$37.92	25-9-F
	9 1/2 inch channel lock	1	\$13.77	\$13.77	25-9-F
	12 inch channel lock	1	\$18.04	\$18.04	25-9-F
	Craftsman professional reversible drill	2	\$103.55	\$207.10	25-9-F
	Craftsman 318 piece tool kit	1	\$474.05	\$474.05	25-9-F
	3 lb. Dead blow hammer	2	\$37.99	\$75.98	25-9-F
	Digging bar	2	\$21.81	\$43.62	25-9-F
	Dry diamond blade for gas circular saw	2	\$397.33	\$794.66	25-9-F
	Electric chainsaw	2	\$69.35	\$138.70	25-9-F
	Electric chainsaw bar	2	\$33.73	\$67.45	25-9-F
	Electric chainsaw chains	4	\$18.42	\$73,68	25-9-F
	Flat head fire axe	2	\$33.24	\$66.48	25-9-F
	Folding rule with extension	4	\$12.34	\$49.36	25-9-F
	Framing hammer	24	\$20.89	\$501.36	25-9-F
	Framing square	2	\$14.24	\$28.48	25-9-F
	Gasoline chainsaw	1	\$528.20	\$528.20	25-9-F
	Gasoline chainsaw bar	2	\$61.75	\$123.50	25-9-F
	Gasoline chainsaw chain	2	\$103.21	\$206.42	25-9-F
	Gasoline chainsaw sprocket	. 2	\$4.75	\$9.50	25-9-F
	Hacksaw blades	3	\$3.79	\$11.37	25-9-F
	Halligan bar	4	\$223.24	\$892.96	25-9-F
	Hand cross cut saw	2	\$14.24	\$28.48	25-9-F
	Hole saw set	2	\$14.24	\$28. <u>4</u> 8	25-9-F

CATEGORY	EQUIPMENT	NUMBER	COST EACH	TOTAL COST	PAGE
Tools	Keyhole saw	2	\$9.33	\$18.66	25-9-F
	Level - 4 foot	2	\$10.98	\$21.96	25-9-F
	Long handle pointed shovel	4	\$18.99	\$75.96	25-9-F
	Metric pneumatic impact sockets	2	\$71.24	\$142.48	25-9-F
	Panel clamp	1	\$11.54	\$11.54	25-9-F
	Pinch bar - 60 inch	4	\$22.70	\$90.78	25-9-F
	Pipe cutter	1	\$108.30	\$108.30	25-9-F
	Pipe cutter oil	1	\$4.75	\$4.75	25-9-F
	Pipe stand	1	\$60.80	\$60.80	25-9-F
	Pipe threader (2" die with teeth)	1	\$102.75	\$102.75	25-9-F
	Pipe threader (ratchet assembly)	1	\$57.67	\$57.67	25-9-F
	18 inch pipe wrench	2	\$28.49	\$56.98	25-9-F
	14 inch pipe wrench	2	\$20.89	\$41.78	25-9-F
	Pliers set (lineman, needle nose)	1	\$56.99	\$56.99	25-9-F
	Plumb bob	1	\$14.24	\$14.24	25-9-F
	Pneumatic impact wrench	1	\$122.55	\$122.55	25-9-F
	Pneumatic nail gun	1	\$265.05	\$265.05	25-9-F
	Post hole diggers	_ 2	\$29.78	\$59.56	25-9-F
	Power wood boring drill bit set	1 1	\$28.49	\$28.49	25-9-F
	Pry axe	4	\$189.99	\$759.96	25-9-F
	Pry bars	16	\$5.69	\$91.04	25-9-F
	Pulaski tool	2	\$28.50	\$57.00	25-9-F
	Rafter square	2	\$4.74	\$9.48	25-9-F
	Retractable steel tape measure	24	\$13.29	\$318.96	25-9-F
	Ring cutter	4	\$14.24	\$56.96	25-9-F
	Roll up tape measure	2	\$15.19	\$30.38	25-9-F
	SAE pneumatic impact socket set	2	\$71.24	\$142.48	25-9-F
	Sawzall - Porter Cable	2	\$189.05	\$378.10	25-9-F
	Screwdrivers	1	\$37.99	\$37.99	25-9-F
	Skilsaw - Professional worm gear	2	\$151.99	\$303.98	25-9-F
	8 pound sledge hammer	4	\$22.60	\$90.40	25-9-F
	4 pound sledge hammer	2	\$20.89	\$41.78	25-9-F
	3 pound sledge hammer	8	\$23.74	\$189.92	25-9-F
	Small garden shovel	4	\$7.59	\$30.36	25-9-F
	Speed square	12	\$7.58	\$90.96	25-9-F
	Steel disc blade for gasoline circular saw	6	\$4.56	\$27.36	25-9-F

CATEGORY	EQUIPMENT	NUMBER	COST EACH	TOTAL COST	PAGE
Tools	Tool box	3	\$28.49	\$85.47	25-9-F
	Torpedo level	12	\$12.33	\$147.96	25-9-F
	Utility knife	24	\$9.49	\$227.76	25-9-F
	Utility knife blades	24	\$1.89	\$45.36	25-9-F
	Vise grip set	2	\$28.49	\$56.98	25-9-F
	Wheel barrow	4	\$33.16	\$132.62	25-9-F
	Wire brush	1	\$3.32	\$3.32	25-9-F
	Wood chisel set	2	\$28.49	\$56.98	25-9-F
	Workmate	4	\$35.15	\$140.60	25-9-F
	Wrecking bar	2	\$8.54	\$17.08	25-9-F
	Zicronium nitride drill bits	2	\$37.99	\$75.98	25-9-F
			· · · · · · · · · · · · · · · · · · ·		
Transportation	Heavy Rescue Vehicle	1	\$400,000.00	\$400,000.00	25-10-B
	24' Box Truck	2	\$75,000.00	\$150,000.00	25-10-B
Ventilation	Duet souples		\$20.77	A70.50	100011
ventilation	Duct coupler	2	\$36.77	\$73.53	20-3-H
	Elephant trunk hose - 25 ft.	2	\$160.74	\$321.48	20-3-H
	Elephant trunk hose storage cannister	2	\$133.38	\$266.76	20-3-H
	Manhole saddle vent	11	\$260.78	\$260.78	20-3-H
	RamFan blower/exhauster UB20	1	\$1,598.85	\$1,598.85	20-3-H
	Saddle vent 90 degree elbow	1	\$55.58	\$55.58	20-3-H
	Saddle vent universal mount	11	\$51.30	\$51.30	20-3-H
	Tank saddle vent		\$251.28	\$251.28	20-3-H
Water Removal	2 ingh disaharga hasa		605.00	074.0F	10500
water Removal	2 inch discharge hose	2	\$35.63	\$71.25	25-9-P
	1 1/2 inch X 50 foot discharge hose	2	\$72.20	\$144.40	25-9-P
	Electric submersible pump 1 1/2 inch	1	\$117.90	\$117.90	25-9-P
	Suction hose 2 inch	2	\$2.78	\$5.56	25-9-P
	Suction strainer 2 inch	1	\$8.90	\$8.90	25-9-P
	Trash pump 2 inch		\$486.88	\$486.88	25-9-P
Education	Training for USAR	70	\$2,750.00	\$192,500.00	

	Total	\$1,091,689.92
Fire	/RESCUE BAITHI	#105.000,